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Semester 2 Final Review Name /K Z-— //

-2 c |2
. = ZSolveth Zsystem of equations. lox __17
5y 5%¥-2 S5 10x-24/ =10 x=

4 =2 Y “Hx+Ey =2

a. (-8,-15) b. (-2,-15) c. (0, 1)
22. Solve the system of equatjons. ‘gxz =/S
3x+ 2= 7 ’3x+2((;3x4”) 7 / =
2 +22
yGrrD Baiet &=
a. (6,-3) b. (6,-7) L% (40

\
A . 3. Sharon has some 0ne>—ﬁollar bills and some ﬁve—g)/llar bills. She has 14 bills. The oﬂjhe bills

$30. Solve a system of equations to find how many of each kind of bill she has. +y-= 4 19 Ilr
@ 4 five-dollar bills, 10 one-dollar bills c. 5 five-dollar bills, 5 one-dollar bills +S y 30 #
b. 3 five-dollar bills, 15 one-dollar bills d. 5 five-dollar bills, 9 one-dollar bills No¢ 4 by = =14
+ I+s$y =320 F
163 N yele (V=
- 4. A jar containing only nickels and dimes contains a total of 60 coins. The value of all the coins in th ollar
See 2 ‘Il
W ovle jar is $4.45. Solve the system to find the number of nickels and dimes that are in the jar. e
a+ en d a. 30 nickels and 30 dimes c. 29 nickels and 31 dimes
FGU\ U @ 31 nickels and 29 dimes d. 28 nickels and 32 dimes
‘J A_S Simplify: @*-36°-6a 3S-lo-a-a%- LY
184°p’ b. 10a%’ a¢. 18ab"” d. 184"’
. a ) ? . b b . a . a

Ve
A.6.  simplify: (K &3
@ 125k° b. 125 c. 5k° d. 548

14
A 7. Simplify: * . Sebtvacet

)T fxpovwwl_r
a) x’ b. X% c. 1 d. 2
)C7
q ¢
A 8 Simplify: 5 3x SIX
- plify: | = a4 ST
ay gy’ b. 6x* c. 12 d. g1y
16 8 2

C- 9.  simplify: (ff/)S 2><y(° (?Yl\(y(')

(0]

a2 -
B.10.  simplify: (319461_5)_2 ;—Bfaéw g -—#g
a. 3p2 b. q | C. q25 3 F d. 25

16

q 9p) 6p
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&12. Suppose the population of a town is 15,200 and is growjng 220 each year. t
a. Write an equation to model the population growth. y = 15,200 ( |+, O’Z)
b. Predict the population after 11 years. n
pop Yerr- )5 zo0( 1N02 )

= 15,200 - 2%: a eople
b. y = 15,200 - 1.02; about 18,899 people

. : ; about 334,400 people
d. y = 15,200 - 2% about 31,129,600 people

é.;l& A boat costs $11,850 and decreases in value by 10% per year. How much will the boat be worth after
8 years?

b. $11,770.00 c. $4.590.93 d. $25.401.53
g <
C - 14, Write the@ of the figure. //, X_(—O(/ - J O>

&/
3x+2 6x

Bx+2 + Sic + b

= Y5 + 2

not to scale

a. 9x+7x b. 1lx+3x+2 @ d. l4x



A 15 Simplify: (4w’ — 4w —8) } (2w? 73w 4 6)
y 2w —Tw—2 c. 2wi—lw—14
B owl— 1w 14 e+ Tw +2

D L =
-_16. Slrglphfy: 8p(-3p” + 6p —2)

a. 57+ 14p° —6p 125" — 6p — Sp

b, 28— l6p—24p' "2 PRH+UER" ’G/’@z@ +48p— 16p

D 17.  Multiply and simplify: (3x 7)(3x— )

a. 9x* 6% + 35
b. 9x{D36x+35 UE<) S - 2/,\+3r

- 3(9)«

C-_'18. Factor: w* 3 )77
a. (WNTW*11) 77 q
b. (W T7)(wx11) Cb d. (wFBHw+
A~_19. Factor: x -42

&

(¥ =7 +6) ;
b. (R ) 2

S — 36x0)35

c. x+7N(x—-06)
1o NS

A_zo Factor: 20x” + 22x — 12
@ 25x—2)2x+3) 20105+l - G) &< (10x — 2)(4x + 3)
. 2(5x +2)(2x - 3) 2(5x~13(—z>¢+37 d. 2(5x+4)(2x-3)

5 Narrow Wider
C . 21. Which of the quadratic fi ons has the widest graph?
a. y=lx2 b. = 4y’ C. y=03x’ d. y=_£x2
3 1
33 \/.‘: x \/__ | xq
D - 22.  Find the coordinates of the vertex of the graph of the function y = 2x° + 8x — 1. &’
a. (2,23) c. (4.63) Az 2 e - b (&)
b (-4,-1) @ED-9 b= 2o 2D L{
C «=7 xC2
 23. Solve: 22 -6z-27=0 2 ~
5¢v°- ? V-2 = D
o z=dors=9 (22974 5)=0G i=duis > / .
b. z=3o0rz=-9 _, 2= 3orz=-9  G=5 ><:_\0 i’m
=D 2% = b=-8 7
. 2 il 2 - c=-2 = (g + 2 .
[T\ -24.  Solve usmg quadratic formula: 5y° -8y =2 < t J(8) _(4)Y5 Y- Z)
(a) 1.82,-0.22 . 112,-9.6 c. 3.64,-0.44 d. 022,182 2y
D z t (Lu+90
. 25. Solve using square roots: 7+ 6= 13 ¢, 7>< = 7 Qg__’(_,\/bq.;.z)o

a. no real number solutions =l c. &7 X’L - ('/
b. 1 - - — L x {10y
@ > = + | = f T

A-_26. The height of a ball dropped from a height of 100 feet is given by the equation & = —16¢> +,100 where
h is height in feet and ¢ is time in seconds. When does the ball hit the ground? O - - ‘.th + loo
. 2.5 seconds b. 3.125 seconds c. 6.25 seconds d. never hits ground o 4l 2
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/—{_-28. Does the table represent a linear, exponential, or quadratic function?

X y
0 3 . .

1 0~ ~ 2
2 -1 T

3 0. L V72
4 3/z

@ c. exponential
b. Tinear d. don’t chose this answer!
(1o
C. 29, Simplify: ~4~/160 @ fio

a. —4~/80 b. —4+/16 C. -16~/10 d. /10
-L|‘L{' lo
D. 30. Simplify: 42 -h/2
a. 5+/2 b. 5+/4 c. 3-/4 d. 3+/2
—
D' 31.  Simplify: V10 (/6 - 8)
\60=§ ko - Plio c. /16-8/10

| Koy Q25O g
bfgf@ - To Fix

D. 32 Simplify: VS0a9bl6 {50
a. b* b. 54°p*2 @ﬁ )@W/_ d. 54b*+2a

13.33.  Simplify: 4+2w/§1—w/§)
a. -2 w c. 4-443 d. 5443

Y4-4{2+2]3-2[9
H-213 - 2(R})
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